H & 0l & AHS B Ml A

AIS0IRI0
=DI0HE D™ 1S
FOEo QA A (SH9 H2)
SA -3 - SA(3) - MISAY - B85 Off &K N3 A Hws2
2t 2,924,747 2,256,369 668,378
= 570,952 570,952 0
= 45,297 43,897 1,400
= 2,308,498 1,641,520 666,978
0Ioks IRy 18 223,822 190,872 32,950
= 38,032 33,032 0
= 185,790 152,840 32,950
QIEo| CIAHH AE 223,822 190,872 32,950
= 38,032 33,032 0
= 185,790 152,840 32,950
DIRAl 2t 20,308 8,408 11,900
401 AEHIL20HY] 11,900 0 11,900
01 AIZHI 11,900 0 11,900
OFE LD dS &= WA 11,900 0 11,900
QIREE 2 74,456 53,406 21,050
201 2Et2 2 49,850 28,800 21,050
01 AFS-2t2ltl 35,450 14,400 21,050
ONSIFE S TA Y LEZLIHE 20,850 0 20,850
OflEHel & HBUS 1,200 1,000 200
2AZ ZE 600,000 *23] 1,200 1,000 200
A5 SO M EE 32,000 26,752 5,248
A5 B{OLeIA X el 32,000 26,752 5,248
Q5o 2el 10,000 4,752 5,248
202 04l 10,000 4,752 5,248
01 =LHOH b 10,000 4,752 5,248
OQI5it HRFH 10,000 4,752 5,248
St GIIteIRA X2 133,160 0 133,160
Zrate| 16,900 0 16,900
N XA 12,000 0 12,000
202 04l 12,000 0 12,000
01 =LA bl 12,000 0 12,000
O SXI=A 12,000 0 12,000
THERRE A= 4,900 0 4,900
201 ZEt2 & 4,900 0 4,900
01 ArR2eltl 4,900 0 4,900
OZAHE A3 A= 4,900 0 4,900
AEEIE = 116,260 0 116,260
A=HE 29 116,260 0 116,260
201 23] 101,260 0 101,260
01 AFS2teltl 101,260 0 101,260
OAHSAREHR =2 100,000 0 100,000
OSSFHUSAIAIRIRS E4dH 1,260 0 1,260




M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
202 04| 15,000 0 15,000
01 2UHAH 15,000 0 15,000
OA=0IGIIIE L SHEHA 15,000 0 15,000
X Xz 2,403,881 1,959,876 444,005
= 532,920 532,920 0
[ 45,297 43,897 1,400
= 1,825,664 1,383,059 442 605
PNESR ) 2,182,614 1,747,313 435,301
= 468,220 468,220 0
[ 45,297 43,897 1,400
2 1,669,097 1,235,196 433,901
X THZEAALS 1,062,920 862,920 200,000
201 LEt2A| 56,980 56,980 0
01 AFR22I] 56,980 56,980 0
OXIETHZAL 22X EX0ISHECH ¥
HI(HEE A2l Q 7HKR)(2I1HA
a3 0 0 10,000 10,000
OXIETHZ A %EIHI EﬂOl%ﬁléEcﬂ 2|
HI(ZAHSEHI 2, AKX R) (D]
5) 10,000 0 10,000
301 LetEX2 1,000,000 800,000 200,000
14 IIEI2 &S 1,000,000 800,000 200,000
OXIETZAL HES2H0 2 =32
Z& 1,000,000,0002 1,000,000 800,000 200,000
KIETHEAAIY =& K& (=Hl) 1,400 0 1,400
(= 1,400 0 1,400
202 04| 1,400 0 1,400
[ 1,400 0 1,400
01 2oL 1,400 0 1,400
OXIETHZAIAIY =& X2 (=4]) 1,400 0 1,400
(= 1,400 0 1,400
CRUFTA 29 430,286 196,385 233,901
(= 4,095 4,09 0
= 426,191 192,290 233,901
201 LEt29Y| 64,159 51,850 12,309
01 AFR222ll 63,439 51,130 12,309
OE2EFAAIY =2 (238 SLU2A)
AF 17,309,000 17,309 5,000 12,309
308 XXM SO0IA 211,046 0 211,046
13 S ZSHSHE A XA I 211,046 0 211,046
Q20044 J|ZHEH TS BUXE BES 211,046 0 211,046
401 AlEHI2L 20 63,341 53,650 9,691
(= 4,09 4,09 0
= 59,246 49,555 9,691
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